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PART OMNE Multiple Choice Questions

1, 50mil i= tha same &5

a
b
=
d

QaosL
B
5L

50 L

Carffcata o Beg pesisry [oucateon
Fhyeas Examinaion, 2007

(40 marks)

7 \Which of the following s an example of renewable snengy resource

a o o o

Coal

Salar
Hatural gas
Ol

1 lron is used for the core of slectromagnets. This (s because iran

da
b
o
d

4. The figure shows the slectric field between two bar magned
¥Which row A 1o D corectly shows the polarity of X and ¥

¥ i noeth and ¥ 2 south

X is south and Y is north

X and ¥ are both naah pobas

. % and ¥ are both south poles

i% & good elecincal conducior
Magr«! ois and demagnetizes aasily

Is hard magnetic malenal

iz a matal

B 0 o om

E  Unit of electric Cument is Ampere (A) One ampere s the rate af

i

O joule per coulomb {140G)
Dne coulomb per second (1 Cis)
COine Joule per sacond (1 M)
One Coulomb por wvolt {1 Chv)

ESLMECE 2021




oemum imned Pealani@ Faminalion Cartificabe ol $e oy Doucaion
s Coprlrbeiil s Repare Phyaics Essmination, HLN

& \Whal ls the combined resistance By across A and B

a 120 3

b 240 A 8
¢ 360

d 500 ) 0

7 An object travels 12m from A to B and then 5m from B 1o L vhat is tha final

displacement?
1Zm
& B & B
b Tm
Gm
& 1Zm
d 13m c

&, If a car stops suddenly, passangers fall forwards. This is an example
of Mewlon's
a. Firet law of motion
b. Second law of motion
c. Third law of motion
d, Law universal gravitation

8. Tha figure shows fhe forces acting on a stone faling freely from a canain height.

\What ara the foerces X and Y stand for X
a  Friction and aif-iesislance
b Weighl and friction
¢ Alr-resstance and weigm ¥
d. Waight and lension

10.A spring Is X cm long. When a foad is hung from the spring, it stretches to ¥ cm
¥hat & the exiension

f 1
a X=% g“
b ¥=X i & v
o X+Y¥ =t
d ¥ d

' E5LECE 1031



Lorandand Kagonal Baaminaiion Cortficaw of Socordery Educstion
deed CarpficEmnn Booed Frynics Exsmindlios, 2029

11. The quaniity that talls how hand a force acis (FE) Is known as:-
Mioment

Miormenium

impulse

Imertia

& 0 7 om

12 A ball is kicked making an angle of 60° with a velocity of 30 mvs. What is the

horizontal componaent of the initsl velociy i
a 12 mis iﬂ
B 15mis
c 26mis ¥ 800
d. 30 mes

13, The amp#ude of & wave detreases 3s the
Energy of wave increasss

Erm ! wave decreases

Enar. - wave increases of decréases
Enaryy of wave becomes the same

- TR -

14 A shedent stands BR0m from a wall and bangs his hands together o hear the
gcho, If the speed of sound ks 330 mis, the fime taken &

4 saconds

. 4.5 Seconds

5§ secands

. 5.5 seconds

a T B

15 Gamma radiation ks not deflected by an eleciric and magnetic fields because
a. Has positwe charge
b. Is made of slectrons
£. Has no change
d Hasthe most ionizing effect

5 @SLNECH 2071




Bamail lard Halloosl Csirfisacon acilicate of Becondaly Foecian
ard Carratios Badal Fryeson Erasination, 21

18, In the nuclear eguation iHe + 541 = 8P+ gn
what s tha valua of X7
a 15
b. 27
g 37
d. 35

11.mmm-wlmu.ﬁw“mmm
a. Change AC 1o DC
b. Change a voltage from one value to anather Potnary Samnt
-3 Ghnmmﬂ:mﬁmmﬂmmm
d. Change DC o AG
iﬂ-mﬁgumhhuhmanﬂnethmmplmh'ﬂulmld'wh'iwl'ﬂd'-n'l'ﬂ‘u

following statament i correct
a. The induced current will flow from B 1o A D
b, End B wil becoms a south pole.
. The induced current will move from Al B

4, The effect is callad motor effect.

1E.1nuﬂhmﬂhur.ﬂupmamnlﬂpummﬂmm“hmmn
a. Encoding
b. Modulating
g, Demodulating
d. Mixing

20, The symbois shown in the figure represants
a. Analag signal
b, Digital signal

¢. Resonance circuit
d, Tuning circuit

& DSLMECE 1021
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Srrmislland Kalsoral Evare il ko it ol beanesny Edecatan

and Co-tFroalon Booel Phigalis Exambrarfan, 21
Part Two: Structured Questions (80 marks)
1. @) Define density and wiite down its formula {2 marks)

voluma of Sem® (2 marks)

2. invacuum Nask, what process of heat transier is reduced by

a) The vacuum layer between the glasses? (2 marks)
b} The shiny sihver coated inside ths walla? (2 marks)
) The insulator stopper (cover)? (2 marks)



Bomatiand Raansl Exminatis Cagriific i il Seworrainey Edusatiuf
i1 Cartiarsn Bod Physion Eyasiraton H3Y

1. |n the cincuit showwn in e figura, bwo tamps ara pofnacied

across a power supply
g] The two lampe are conmected in (tick one box)

P araiiel Ej {2 marks)

hat Ly has less resistance than Lz

b) How can you 1all fram the diagram |

{2 marks)

(2 marka)

4 A rocket of mass 500k is fired upwards

a) What is the waight of the rocker?(g=10mis’) (2 marks) trust
e e dd N .= - - a 104 wa'lght
b If the engine exerts & force (trust} of BODON, work out.

i} Tha nel force on tha rocket

i initial acceleration

...........

ESLNECH 2031



Sy et oo E s an inamen Cartfcans of Secordary Educatan

aid Crrifuation B Pagmeay Eamruralion, 7039
& The figure shows a velocity- time graph 0% Vimia)
&) How can you 1ell from the graph that 20
The bady = speeding up |2 marks) i
....................... 5 10
s e s R S Time(s)
by The siope or gradient of the Ene stands for (& marks)
Distance travelied |:'|
Acosleration |:
¢) From the graph, find out the acceleration [2 marks)
& When the load shown in the figures is hang from the spring,
it strelchas Sy,
s} The spring is an eastic material. VWhat s meant
by elastic material (2 marks)
U R R ST et -

by The elasiic property is explained by Hooke's law, F= k. What does the letier
K stands for? (2 mirks)
¢} In the load-extension graph, what does tiwa point marked E represent? (2 marks)

Force

Exlinsnn

L SELNECE 2021




by amaasand HEEnnd Fammiragt-af Cortificain ol oAy & oAl T
e Canrpbicatun Bnasil Phgu s Enarni i, 2037

7 |n the figure straignt watas waves striks & plana
pamer and thay bounce back
a) What is this propery of Waves callnd? (2 marks)

¢} Inthis case ﬂwmah:maramrrﬂm
and change ns diraction. VWhat is this
proparty of waves cafled? (2 marks)

g Tha figure shows 3 nautron SiTking wranium

atom ___,_...4-"
al Th!mﬁiﬂnnbmwnmﬂ'ﬂfgurﬁm nﬂ-._—h._—_—
‘_--‘

] et
Nuclaar fission -ﬂ\\
Muciear fusion :] {1 mark) i

w By + gn - 9oL + 160gn + 4{jn) Wor out v wahse of

X and Y {3 marks)
) M&Mmmmﬁﬁumﬂﬂm@w {2 marks]
1
3
10 SSLNECE 103
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6. The figure shows a radio receiver. Maich the parts of the radw in A and Eheir

functions in B (6 marks)
A B
al Aatial 1. Selects one parficular frequancy
b} Tuning eircw 1. Increasing the energy of the sapnals
o) Amplifiss_ 3, Delecis signals

10, in the figune, a wire 20om long i moved downwards Boroes & magnetic feld of
sirengths 1. 27 at 3mds

a) Use FRHR 1o shaw thie deection of the induced current
LUse &3 for in toihe page
(*) Out of the page {2 rmasis)

b) The affect is called (2 marks)

Transformer effect D
Genaralor EH!EC1 :

b Work oul the size of the Emil. induced in the wine {2 marks)

END
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